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Customers

% CustomerCode
Customerbame
CustomerFamily
Customeribobile

Factors

% FactorCode
CustomerCode
FactorDate

SAMPLEL

Goods

¥ GoodsCode
GoodsMame
GoodsUnitPrice
GoodsStock

Factorltems

% FactorCode
% GoodsCode
GoodsA&mount




INSERT INTO

INSERT INTO Customers(
CustomerCode,CustomerName,CustomerFamily,CustomerMobile)

VALUES( 1,'a',’aa’,’11’);

INSERT INTO table name [(field1][, field2[....]]]
VALUES (valuel[, value2|[....])



UPDATE

UPDATE Customers
SET CustomerName='A' ,CustomerFamily="AA' ,CustomerMobile='111"
WHERE CustomerCode=1,;

UPDATE g5 IS S5
UPDATE table

SET newvalue
WHERE criteria



UPDATE

DELETE
FROM Customers
WHERE CustomerCode=1,;

DELETE 50 5 JSUG
DELETE

FROM table name
WHERE criteria

g Lo Ul g 3,65, aod 39 o5lesiwl WHERE wgas DELETE jgiws S|



SELECT

SELECT s IS S
SELECT field list

FROM table name
[GROUP BY .. ]
[ORDER BY ...|




SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A Lyiy 11
2B BE 22
3 A EE 33
a4 48 AB 44
5C AC 55
g 0O CC ilx]
7B BB 7T
8 A ABB 28
9B BB, 99

SELECT *

FROM Customers

WHERE CustomerName='A' AND NOT CustomerFamily="'AA’;

CustomerCode - CustomerName - CustomerfFamily - |CustomerM: -
3 A EB 33
4 A AB 44
8 A ABB 88



SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
3C AC 35
6D cC 66
7B BB 77
8 A ABB 88
9B AL 99

SELECT CustomerCode AS [sylie 35 |, CustomerMame AS [syiin oU] | CustomerFamily AS [ulie wluali]
FROM Customers
WHERE CustomerName="A" AND NOT CustomerFamily="AA"

T O R . TSP I
3 A BB
a A AB
B A ABB



SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
3C AC 35
6D cC 66
7B BB 77
8 A ABB 88
9B AL 99

SELECT CustomerCode AS [spiie 28] CustomerName +' '+ CustomerFamily AS [S 3lgils alig alj
FROM Customers
WHERE CustomerMame="A" AND NOT CustomerFamily="AA";

£ fSe B .|  Sdgla il .
3 ABB
4 AAB
& A ABB



SELECT

CustomerCode - CustomerName - CustomerFamily - CustomerMabile - SELECT CustomerName FROM Customers;

1A
2B
3A
4A
5C
6D
7B
8 A
3B

SELECT TOP 3 CustomerName FROM Customers

CustomerMame -

B
A

AA
BB
BB
AB
AC
cC
BB
ABB
AA

11
22
33
a4
55
iy
77
88
93

CustomerMName -

m =m0 0 > B O B>

SELECT DISTINCT CustomerName FROM Customers;

CustomerMame -
A
B
C



SELECT

CustomerCode - CustomerName - CustomerFamily - | CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
5C AC 55
6D CC 66
7B BB 77
a A ABB 88
9B AL 99

SELECT COUNT(CustomerCode) AS CustomerCount FROM Customers;

CustomerCount -



SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
3C AC 35
6D cC 66
7B BB 77
a A ABB 88
9B AL 99

SELECT CustomerMame , COUNT[CustomerMName]} AS CutomerCount FROM Customers
GROUP BY CustomerMName:

CustomerName -~ CutomerCount -

2
B
-
D

W



SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
3C AC 35
6D cC 66
7B BB 77
a A ABB 88
9B AL 99

SELECT CustomerMame , COUNT[{CustomerName) AS CutomerCount FROM Customers
GROUP BY CustomerMame
HAVING COUNT[CustomerMame]=1:

CustomerName -~ | CutomerCount -

A 4

B 3



SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
3C AC 35
6D cC 66
7B BB 77
a A ABB 88
9B AL 99

SELECT CustomerMame , COUNT[CustomerMame] AS CutomerCount FROM Customers
WHERE CustomerFamily <= A&

GROUP BY CustomerMame

HAVING COUNT[CustomerMName]=1;

CustomerMame -~  CutomerCount -

3

B 2



SELECT

CustomerCode - CustomerMame - CustomerFamily - |CustomerMobile -

1A AL 11
2B BB 22
3A BB 33
4 A AB —
3C AC 35
6D cC 66
7B BB 77
a A ABB 88
9B AL 99

SELECT CustomerMame , COUNT[CustomerMame]} AS CutomerCount FROM Customers
WHERE CustomerFamily <="A4

GROUP BY CustomerMame

HAVING COUNT[CustomerMName) =1

CORDER BY COUNT[CustomerMame);

CustomerMName -~ | CutomerCount -

B 2

A 3
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